V. SPEKTRUM OPERATORU

PrO NASLEDUJICI OPERATORY T € L(X) URCETE o(T) A 0,(T).

X =02 T(z,)) = (0,21,22,...). 2. X =0 T((x,)) = (v2,73,74,...).
X =0 T((x,)) = (0,22,0,24,...). 4. X =02 T((z,)) = (mxn)ff 1
X =cy, T((z,)) = (%xn)zozl 6. X =co, T((z,)) = (z1, éxz x3, 4554,:55, éxG, cel).
X =0,T((zn) = ("Fzn)is 8 X =0,T((zn)) = (F52n)0l1-
X = co, T((zn)) = (B5752)02.
e X =01 T((xn)) = (gawn)nly, kde {gn;n € N} =Qn(0,1).
X =C([0,1]), T(f) = £+ F(1) - £(0). 12 X =C([0,1]), T(F)(t) = [ f, t € [0,1].
X =C([0,1]), T(H)() = t£(t).  14. X = cao 1), T(F)(¢) = < ) ).
X = C([=1,1]), T()(®) = £(1). 16, X = L7([0,1]), kde p € [1, o], T(f) = xj0.4-;
L X = 22([0,1]), kde p € [1, o], T(F)(t) = (¢ — 2)* - (1), t € [0,1]
- X =LP([0,1]), kde p € [1,00], T'(f) = (Xj0,21 — X(2,11) [
L X = 12((0,1]), kde p € [1, 0], T(£)(t) = ££ (1)
X = L7(R), kde p € [1,00], T(f)(t) = f(~1). 21 X = Co(R), T(/)(t) = £(—).
X =LP(R), kde p € [1,00], T(f)(t) = f(t —1). 23. X =Co(R), T(f)(t) = f(t —1).
. X =Co(R), T(f)(t) = f(20). 25. X = LP(R), kde p € [1,00], T(f)(t) = f(21).
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PrO NAsSLEDUJIC OPERATORY T € L(X) URCETE o(T) A o,(T).
X =0T((x,)) = (0,21,22,...). 2. X =0 T((x,)) = (w2, 73, T4,...)-
X =02, T((z,)) = (0,22,0,24,...). 4. X =0 T((z,)) = (z,)5,.
X =co, T((wp)) = (£20)52y. 6. X =co, T((zn)) = (w1, 322, T3, 1T4, T5, 6, - - . ).
X = 2, T((a) = (Fa)i. 8. X = 2, T((wa)) = (2570)30-
X = co, T((wn)) = (BE15)02,
X =0 T((20)) = (gurn)2y, kde {g.;n € N} =Qn(0,1).
. X =¢([0,1), T(f) = f+ f(1) = £(0). 12. X =¢([0,1]), T = [V f, te[0,1].
X =C([0,1]), T(f)(¢) =tf(t). 14. X =C([0,1]), T()(t) = (t— —) - f(t).
X =C([-11]), T(f)(¢) = f(Jt]).  16. X = LP([0,1]), kde p € [1,00], T(f) = X0, f;
. X =L7([0,1]), kde p € [1,00], T(f)(t) = (t — 5)* - f(t), t €[0,1];
- X = LP([0,1]), kde p € [1,00], T(f) = (X0,2) — X(2,1) " [-
. X = L7([0,1]), kde p € [L,00], T(f)(t) = tf ().
X = LP(R), kde p € [L,00], T(f)(t) = f(—t). 21. X =Co(R), T(f)(t) = f(—t).
X =LP(R), kde p € [1,00], T(f)(¢) = f(t —1). 23. X =Co(R), T(f)(t) = f(t—1).
X =Co(R), T(f)(t) = f(2t). 25. X = LP(R), kde p € [1,00], T(f)(t) = f(2¢).



